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Question 1
Question Type: MultipleChoice

If a router receives routes from a route reflector, packets destined to the learned prefixes by default must go through what path?

Options: 
A- To the next BGP hop

B- To the BGP neighbor

C- The Route Reflextor

D- To the Next IGP hop

Answer: 
B

Question 2
Question Type: MultipleChoice



What does virtualization of the core route reflectors do?

Options: 
A- limit the availabiltty

B- does not enhance resiliency

C- enhance resiliency or availability

D- adds complexity

Answer: 
D

Question 3
Question Type: MultipleChoice

Which three clock types can an ASR920 router be configured as? (Choose three.)



Options: 
A- Boundary clock

B- Clock

C- Ordinary clock

D- Regular clock

E- Transparent clock

F- Ordinary, Regular

Answer: 
A, C, D

Question 4
Question Type: MultipleChoice

Which technology adopts a strategy in which the core, aggregation, and access networks are partitioned into separate MPLS/IP domains

that are isolated at the IGP level but are still integrated through BGP labeled-unicast for the forwarding of unicast traffic?



Options: 
A- Unified MPLS

B- SONET

C- LDP

D- LFA FRR

Answer: 
A

Question 5
Question Type: MultipleChoice

What is the prefer method for frequency synchronization in a Unified MPLS for IP MBH Communication?

Options: 
A- SyncE/IEEE1588

B- Local devices Clocking Sync



C- IP MBH Communication doesn't require Synchronization

D- NTP

Answer: 
C

Question 6
Question Type: MultipleChoice

How does traditional mobile networks scale?

Options: 
A- non-exponentially

B- exponentially

C- linearly

D- nonlineariy



Answer: 
A

Question 7
Question Type: MultipleChoice

What command is used to insert the core node area border router into the data path?

Options: 
A- update-source loopback0

B- set path-selection backup 1 install

C- next-hop-self

D- insert-data-path

Answer: 
A



Question 8
Question Type: MultipleChoice

What does the neighbor send label command enable when issued on BGP routers?

Options: 
A- Enables the routers to add IPv6 labels to outgoing BGP updates

B- Enables an EBGP multihop peer to propagate the next hop unchanged

C- Enables the routers to add MPLS labels to outgoing BGP updates

D- Allows peering between loopbacks

Answer: 
B

Question 9
Question Type: MultipleChoice



What does SynchE mainly provides?

Options: 
A- SyncE provides for time of day synchronization

B- SyncE provides for accurate frequency synchronization

C- SyncE provides for phase synchronization

D- SyncE provides for time of day

Answer: 
B

Question 10
Question Type: MultipleChoice

Which two options configures an ASR920 router as a hybrid clock? (Choose two.)



Options: 
A- ptp clock boundary domain 0

B- ptp clock boundary domain 0 hybrid

C- ptp clock ordinary domain 0 hybrid

D- ptp clock ordinary domain 0

E- ptp clock

Answer: 
B, C

Question 11
Question Type: MultipleChoice

What can PTP be used to synchronize?

Options: 



A- Time, frequency, phase

B- Rate

C- Phase, time

D- Frequency

Answer: 
D
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